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Figure 1 - Adaptive Filtering: Scaled LF1 Utility (92-94)
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Scaled difference from baseline
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Figure 2 - Adaptive Filtering: Scaled LF2 Utility (92-94)
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Figure 3 - Adaptive Filtering by year (Scaled LF1 Utility)
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Figure 4 - Adaptive Filtering by year (Scaled LF1 Utility)
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Figure 5 - Adaptive Filtering by year (Scaled LF2 Utility)

ok8f321

ok8f222

1993

— uttno8If2f

—  uttno8If2 -

—— CL99afl2 .

uttno8If2p
INQ612 -

. - oksrzz f

Lower Bound:

ok8f321 *

— Baseling ---rrroopdis oo

_ INQe1L
~ IOWAF991

Utility of 100 non-relevant documents

1994

ok8f321

ok8f222

uttno8If2f

uttno8lf2

CL99aflL2

INQ612

uttno8lf2p
INQ611

| IOWAF991

Baseline




Scaled difference from baseline
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Figure 6 - Batch Filtering: Scaled LF1 Utility (93-94)
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Scaled difference from baseline
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Figure 7 - Batch Filtering: Scaled LF2 Utility (93-94)
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Figure 8 - Routing: Averaged vs. Ranked Precision
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